SUBMITIVE ASSESMENT - 1 (2019-20)

CLASS: 10™  SUBJECT: ENGLISH MM: 80 v TIME: 3Hours

20 ma rks

1. Read the passage given below and answer the questions that follow : (8)

The Chinese proverb — Without rice, even the cleverest woman cannot cook - is true for innumerable
Indians too. Eating simply boiled rice, is the world’s most important basic type of food. It's also deli-
cious as Pulao, Biryani, 1dli, Appams, Kheer or puddings. The grain is available in a myriad of varieties
the world over. It's not fattening, contrary to some urban myths; scientists and diet experts know that
rice is good for you and can’t make you heavier. It mainly comprises carbohydrates that do not add
kilos, if consumed in moderation. An average 100-gram serving of rice has only about 0.4 gram of fat.
In fact, this serving has no more than 100 calories. And, writes noted culinary expert Tarla Dalal, - Rice
has approximately the same calories as whole wheat and hence is not more fattening.

It’s easy to digest. Rice Janji is, therefore, a home remedy for diarrhoea. In fact, the Janji, with a few
accompaniments, like coconut chutney and cooked beans, makes for a healthful meal that millions in
Kerala enjoy. White or brown ? Unpolished brown rice may not be as popular as white, but is good
source of complex carbohydrates providing starch and fibre. It takes relatively more time to digest al- |
Jowing the body to consume the energy released over an extended period, Brown rice is also richer
in vitamins, vitamin B, E and minerals like manganese and selenium, which make it more nutritious
than the white rice varieties. However, white rice; too, has calcium and the essential B vitamins, niacin
and thiamine. It’s healthy since rice has no cholesterol or sodium; it is safe for those suffering from hy-
pertension. Diabetics, who prefer rice daily, could choose brown rice after checking with their doctor.

(A) Answer the following questions :

(i) Name two Indian dishes made out of rice.

(ii) is a home remedy for diarrhoea.
(iii) Pick out the word from the passage which means’ /a medicine on treatment for a desease’.

(iv) Rice has approximately the same calories as whole

(B) Choose the correct alternatives : i
(i) 100 gm serving of rice has not more than calories in it.
(a) 100
(b) 10
(c) .001
(d) 1000
(i) What does brown rice contain?
(a) Vitamin A and B
(b) Vitamin B and C
(¢) Vitamin Band D -
(d) Vitamin B and E

o

(iii) Which proverb says that ‘without rice, even the cleverest woman cannot cook?
(a) Japanese
(b) German
(c) French

(d) Chinese
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(iv) 1t is safe for patients to have rice daily and to choose brown rice in their diet.
(a) diabetic
(b) blood pressure
(c) rheumatic
(d) paralytic
2. Read the passage given below and answer the questions that follow : ] (12 Marks)

(1) Have you ever failed at something so miserably that the thought of attempting to do il again was
the last thing you wanted to do?

(2) If your answer is yes, then you are “not a robot.” Unlike robots, we human beings have feelings,
emotions, and dreams. We are all meant to grow and stretch despite our circumstances and our limita-
tions. Flourishing and trying o make our dreams come true is great when life is going our way. But
what happens when it's not? What happens when you fail despite all of your hard work? Do you stay
down and accept the defeat or do you get up again and again until you are satisfied? If you have a
tendency to persevere and keep going then you have what experts call, grit.

(3) Falling down or failing is one of the most agonizing, embarrassing, and scariest human experi-
ences; But it is also one of the most educational, empowering, and essential parts of living a suc-
cessfill and fulfilling life. Did you know that preservance (grit) is one of the seven qualities that
have been described as the keys to personal success and betterment in society? The other six aré\
curiosity, gratitude, optimism, self-control, social intelligence, and zest. Thomas Edison is a model
for grit for trying 1,000 plus times to invent the light bulb. If you are reading this with the lights on
in your room, you know well he succeeded. When asked why he kept going despite his hundreds
of failures, he merely stated that what he had been through were not failures. They were hundreds
of ways not to create a light bulb. This statement not only revealed his grit but alsohis optimism
for looking at the bright side

(4) Grit can be learned to help you become more successful. One of the techniques that helps is mind-
fulness. Mindfulness is a practice that helps the individual stay in the moment by bringing awareness
of his or her experience without judgement. This practice has been used to quiet the noise of their fears
and doubts. Through this simple practice of mindfulness, individuals have the ability to stop the self-
sabotaging downward spiral of hopelessness, despair, and frustration.

(5) What did you do to overcome the negative and self-sabotaging feelings of failure? Reflect on what
you did, and try to use those same powerful resources to help you today.

A. On the basis of your reading of the passage, answer any four of the following questions in about
30-40 word each. (2 X 4 =8),

(a) According to the passage, what are the attributes of a human?
(b) What is perceived as grit?
(c) How is ’failihg’ an educational and empowering part of human life?
(d) In what ways can grit be developed?
(e) How does mindfﬁlness help?
B. On the basis of your reading of the passage, answer any four of the following : (1x4=4)

(a) While inventing the light bulb, Thomas Edison had failed

(i) 1000 times (ii) 10000 plus times
(iii) 1000 plus times (iv) 10000 times
(b) Failureis a part of life.
(i) normal (ii) common
(iii) human (iv) ordinary
(¢) In paragraph 2, means continue.
(i) robots (i) satisfied '

(iii) persevere (iv) flourishing {



(d) In paragraph 3, the synonym of ‘distressing’ is

(i) embarrassing (ii) scariest
(iii) agonizing (iv) failing °
(e) helps in preventing individuals from going downithe lines of despair.
(i) Robotos (i) Satisfied
(iii) Persevere (iv) Flourishing,

30 marks

Q. 3. Write an article in 100-120 words on the ‘Importance of Good Health’ for your school magazine. You

are Ram/Rani. 8
OR

You are Shiv/Shiva of C-12, Rajouri Garden, Delhi, you wish to make a pilgrimage to Badrinathf
Kedarnath and Haridwar with your family of five. Write a letter to 5.S. Travels Station Road, Delhi
enquiring about the schedule of their conducted tour by Deluxe buses to these places, Ask about the
charges, boarding and lodging arrangements and the total time needed for the tour.

Q. 4. Yesterday morning, 1 was getting ready for my school. As soon as 1 p‘icked up my school bag,
someone knocked onthe door. I opened the door and saw.

OR
A boy was playing in the park. He saw a small sparrow sitling on a stone. He went-near it, still it
didn’t fly. He......

Q. 5. Read the passage given below and fill in the blanks by choosing the most appropriate words from the
given options. (Any four) 5
Rohini wrote to her mother that she (a)...................... into the boarding school. “I now have (B)asiinmascs
friends also. One of them is Anne, I () AR you a picture of the two of us by e-mail. I
(d)...c.ccosiuunnn...really very happy.

(a) (i) settled  (ii) has settled (iii) had settled (iv) has been settled
(b) (i) afew (i) the few (iii) few (iv) little

() (i) send (ii) sent (iii) am sending (iv) is sending

(d) (i) is (ii) was (iii) am (iv) will be

Q. 6. The following passage has not been edited. There is an error in each line against which a blank is
g passag &
given. Write the incorrect word and the correction in your answer-sheet against the correct blank

number. (Any four) (4)
Error Correction

Anne is in need of the true friend with e.g. the a

who she can share her joys and (a)

sorrows. She has loving parent and about (b)

thirty people whom she can call friend. ()

When she is with his friends she (d)

could talk about matters of everyday (e)

but cannot share her feelings.

Q.7.  Rearrangeany four of the jumbled words and phrases into meaningful sentences. The first one has
been done as an example. (4)

(a) in/the cactus/very hot,/grows/dry places

(b) do not/leaves/have/they/but/spiny needles

(c) flowers/and/bloom/some of them/cacti/at night/are big
(d) absorb/from fog/water/in the air/cacti can

(e) is/plant/aloe vera/a/common/cactus

by 30 marks

Q.8. Read the Extract given below and answer the questions that follow :
‘Perhaps it requires such depths of oppression to create such heights of character. My country
is rich in the minerals and gems that lie beneath its soil, but ] have always known that its greatest
wealth is its people, finer and truer than the purest diamonds’, (1x4=4)




N/

(a) Whose country is referred here ?

(i) Nelson Mandela (ii) George Washington

. (iif) Mahatma Gandhi (iv) Martin Luther King

(b) Whatis a country’s greatest wealth ? s
(i) its economy (ii) itsinfrastructure
(iii) its people (iv) its resources

(c) Who have the people been compared to
(d) Mention the ‘Synonym of valuable stone’ in the passage?
OR

The following Sunday, Lencho came a bit earlier than usual to ask if there was a letter for him.
It was the postman himself who handed the letter to him while the postmaster, experiencing
the contentment of a man who has performed a good deed, looked on from his office. Lencho
showed not the slightest surprise on seeing the money; such was his confidence - but he
became angry when he counted the money. God could not have made a mistake, not could he
have denied Lencho what he had requested. _ _ (1x4=4)
(a) Was Lencho surprised on seeing the money?

(i) alittle ~ (i) not at all (iii) Very much (iv) a sort of
(b) Lencho didn’t get 100 pesos from God, it was only :

(i) Eighty pesos (ii) Fifty pesos (iii) Seventy pesos (iv) Sixty pesos
(c) Lencho’s belief in God was

(i) strong (ii) weak (iii) somewhat strong  (iv) very weak
(d) Who handed the letter to Lencho?
(i) The Post master (ii) The Clerk (ili) The Postman (iv) Stranger
Q.9.  Answer the following question in 30-40 words. 2X5=10

(a) Why did Wanda’s house remind Maddie of Wanda’s blue dress ?
(b) What does ‘fire’ and ‘ice’ stand for and what is the general opinion regarding the world ?
(c) How did Anne respond to the punishment by Mr. Keesing ? What light does it throw on

her nature ?
(d) Why did Matilda (Mme Loisel) leave the ball in a hurry ? What does it show about her
character ?
(e) In which queer way did Anil make a living ? (The Thief’s Story)
Q.10. Answer any one of the following question in 100-150 words : 8

Neighbours must have a cordial relationship which Lomov and Natalya do not have. Describe
the first fight between them.

OR
The author shares a lot of information about the bakers in his home town when he was young,
He appears to be a very observant child. Should children have such keen observation powers?

Q.11. Answer any one of the following question in 100-150 words : 8
Why was the lawyer sent to New Mullion ? Why could the lawyer not complete his work on
that day ?

OR

Griffin is a talented scientist but he misused his invention. The lesson we learn from his example
is that the misuse of a scientific discovery can play havoc with humanity. Explain.
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SUMMATIVE ASSESSMENT -I (201:)-20]

MATHEMATICS
CLASS-X

Time: 3 to 3%z hours M.M.: 80

General Instructions

i)
i)

i)

iv)

All questions are compulsory,

The questions paper consists of 34 questions divided into four sections A, B, C and D.
Section Acomprises of 10 questions of 1 mark each, Section B comprises of 8 questions
of 2 marks each, Section C comprises of 10 questions of 3 marks each and Section D
comprises of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section A are multiple choice questions where you are to
select one correct option out of the given four.

There is no overall choice. How ever, internal choice has been provided in 1 question of
two marks, 3 questions of three marks each and 2 questions of four marks each. You have
to attempt only one of the alternatives in all such questions.

Use of calculators is not permitted.

Section-A

Question numbers 1 to 10 are of one mark each.

g

Euclid's Division Lemma states that for any two postive integers a and b, there exist
unique integres q and r such that a=bq-+r, where r must satisfy.

(A)  l=<r<h (B) D<r<b (C) 0<r<b D) 0O<r<b
In Fig.1, the graph of a polynomial

p(x) is shown. The number of zeroes of p(x) is 5

A 4 (B) 1 (c)y 2 oy 3 ' 2

Fig. 1
InFig. 2, if DE BC, then x equals
(A) 6cm | (B) 8cm
(C) 10cm (D) 12.5¢cm

13



4. If sin 38 = cos (68-6°), where (38) and (8-6°) are both acute angles, then
the value of 8 is

(A)  18° (B) 24° (C) 36° (D) 30°
- BriOE e, 1his valluie of S259F 098070
5. Given that 7 cosec+secit
A 1 B 1 Cc . D -
6. In Fig. 3, AD=4 cm, BD = 3 cm and
CB =12 cm, then ¢otd equals A
3 5 S
(A) 7 B) ==
4 12 00D
4 12 0 90"
© 3 B 5 c Fig. 3 B
B ; 147 ; .
¥ The decimal expanision of 120 will terminate after how many places of decimal?
(A) 1 (B) 2 (c) 3 (D)  willnot terminate
8. The pair of linear equations 3x+2y=>5; 2x-3y=7 have
(A)  One solution (B) Twosolutions
(C)  Many Solutions (D)  Nosolution
, . 15 Y
Q. If sec A=cosecB = -+ thenA+Biis equalto
(A) Zero (B) 90° (C) <90° (D) =>90° .\

1

10.  For agiven data with 70 observations the 'less then ogive’ and the 'more than ogive
intersect at (20.5, 35). The median of the data is

(A) 20 (B) 35 (cy 70 (D) 205

SECTION-B

Question numbers 11 to 18 carry 2 marks each.
11. s 7x5x3x2+3 a composite number? Justify your answer,
12. Can(x-2) be the remainder on division of a polynomial p(x) by (2x+3)? Justify your

answer. ) X+y B
13.  InFig. 4, ABCD is arectangle. ‘i‘ 4

: !
Find the values of xand y. x_yi i 8
A< i3 *B

Fig. 4
14
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14,

15.

16.

17.

18.

If 7sin*8+3c0s?8 = 4, show that tanB=—
3

OR

(2+ 2sinB)(1-sinB)
(1+cos6)(2-2c0s8)

If cotsr-lag. evaluate

In Fig 5, DENIAC and DFIIAE. Prove that A
FE_EC 5
BF BE
A B 2 E c
Fig. 6

In Fig. 6, AD 1 BC and BD=%CD.

Prove that 2CA*=2AB2+B(C?

B D ¢
Fig. 6
The following distribution gives the daily income of 50 workers of a factory:
Daily income 100-120 120-140 140-160 160-180 180-200
(in rupees)
Number of 12 14 8 6 10
Workers

Write the above distribution as less than type cumulative frequency distribution.
Find the mode of the following distribution of marks obtained by 80 students:

Marks obtained 0-10 10-20 20-30 30-40 40-50
Number of students 6 10 12 32 20
SECTION C

Question numbers 19-28 carry 3 marks each.

19.

20.

21.

Show that any positive odd integer is of the form 4q+1 or 49+3 where q is a positive
integer.

3
Prove that —2{— is irrational.
OR

Prove that (5 - ] is irrational.

Aperson can row a boat at the rate of Skm/hour in still water. He takes thrice as much time
in going 40 km upstream as in going 40 km downstream. Find the speed of the stream.

15



OR

o . . 1
In a competitive examination, one mark is awarded for each correct answer while 5 mark

is deducted for each wrong answer. Jayanti answered 120 questions and got 90 marks.
How many questions did she answer correctly?

22. If @, pare zeroes of the polynomial X3-2x-15, then form a quadratic polynomial whose

zeroes are (2¢:) and (2f3).

23,  Prove that (cosect-sinB)(sec6-cos6) = 1

tanB+cot8”
24.  If cosB+sind = V2 cos, show that cosb-sinB=y2 sin6 A %
25.  InFig. 7, AB LBC, FG LBC and 5
DE L AC. Prove that D <
AADE~AGCF
B F c
26,  AABC and ADBC are onthe same base Fig. 7
P
BC and on opposite sides of BC and O is &
the point of intersections of AD and BC.
area(AABC) AOQ B
Provethat 3req (ADBC) DO Fig. 8 g
27.  Find mean of the following frequency distribution, using step-deviation method:
Class 0-10 10-20 20-30 30-40 40-50
Frequency 7 12 13 10 8 \
OR
The mean of the following frequency distribution is 25. Find the value of p.
Class 0-10 10-20 20-30 30-40 40-50
Frequency 2 3 5 3 P
28.  Findthe median of the following data
Class 0-10 [ 10-20 | 20-30 | 30-40 |40-50 | 50-60 | 60-70| 70-80|80-90 | S0-100
Frequency | 5 3 | 4 3 3 4 7 9 7 8

SECTION D

Question numbers 29 to 34 carry 4 marks each
29.  Find other zeroes of the polynomial p(x) = 2x*+7x°-19x2-14x+30 if two of its zeroes are

J2 and /2.

16
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30

31.

32.

33.

34.

]

b

Prove that the ratio of the areas of two similar triangles is equal to the ratio of the squares
of their corresponding sides.

OR

Prove that in a triangle, if the square of one side is equal to the sum of the squares of the
other two sides, then the angle opposite to the first side is a right angle.

secO+tan0-1 _ cos6

Prove that 53
tan0-secB+1 1-sinB

OR

secO cosec(90°-0) —tan® cot(90°-6) + sin? 55+ sin? 35°
tan 10° tan 20° tan 60° tan 70° tan 80°

Evaluate

2.
If secB+tan8 = p, prove that sinB = Pt
po+1

Draw the graphs of following equations :

2x-y=1, x+2y=13 and

(i) find the solution of the equations from the graph.

(ii) shade the triangular region formed by the lines and the y-axis

The following table gives the production yield per hectare of wheat of 100 farms of a
village :

Production yield 50-55 | 55-60 | 60-65 65-70 70-75 | 75-80
in kg/hectare

Number of farms 2 8 12 24 38 16

Change the above distribution to more than type distribution and draw its ogive.
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SUMMATIVE ASSESSMENT -1 (2019-20)

CLASS-X  SUBJECT- SCIENCE TIME: - 3 Hours MM: 80

General Instructions:

iii.

iv,

e

Vi,

Vii.

viii.

ix.

The question paper comprises twe sections, A and B. You are to attempt both the sections.
All questions are compulsory.

All questions of Section A and B are to be attempted separately.

There is an internal choice in twe questions of three marks each and one question of five
marke.

Question numbers 1 and 2 in Section-A are one mark question. They are to be answered
in one word or in on¢ sentence.

Question numbers 3 to 5 in Section- A are two marks questicns. These are to be answered
in 30 words each.

Question numbers 6 to 15 in Section-A are three marks questions. These are to be
answered in about 50 words each.

Question numbers 16 to 21 in Section-A are 5 marks questions. These are to be answered
in 70 words each.

Question numbers 22 to 27 in Section- B are based on practical skills. Each question is a
two marks question. These are to be answered in brief

Section A

Which sodium compound is used as on antacid in medicine.
Give the function and source of Insulin hormone.

3. What do you observe when penta hydrated copper-Sulphate crystals are heated? Give

reaction also.

Name the unit of inheritance, Write its functions.

What will be the amount of energy available to the organism of the 2nd trophic level of a
food chain, if the energy available at the first trophic level is 10,000 joules.

Four elements P, Q, R and S have atomic numbers 12, 13, 14, 15 respectively.

Answer the following questions giving reasons:

a. What is the valency of P.
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b.- Classify these elements as metals and non metals.
c. Which of these elements will form basic onides.

7.a. Write Name & formula of ore of Al, Cu & Zn.
b. Explain the Refining of metal with suitable example.

8. Write any three advantages of vegetative propagation.

9. Draw a sectional view of human female reproductive system and label the part where:
a. Eggs develop
b, Fertilizations take place.
c. Fertilized egg get implanted.

10. Name the eye defect in which eye lens become cloudy on milky. Name the method for its
correction. A person uses a lens of power - 2.0 D for correcting his distant vision and for
correcting his near vision he used lens of power + 2.0 D. Calculate the focal length of
lenses required to correct these defects.

11. Define the following terms-
a) Unisexual and Bisexual
b) Self and cross Pollination

12. What is the difference between a direct current and an alternating current? How many
times does AC used in India change direction in one second?
OR
What is the role of fuse used in series with any electrical appliance? Why should a fuse
with defined rating not be replaced by one with a larger rating?
13. Calculate the energy transferred by a 5A current flowing through a resistor of 2 Ohms for
30 minutes.
14. Sahil lives in Delhi and is much concerned about the increasing electricity bill of the
house. He look some steps to save electricity and succeeded in doing so:
i. Mention any two steps that Sahil might have taken to save electricity.
ii. Which alternative source of energy would you suggest Sahil to use?
15. a. Write the electron-dot structure of Sodium, Oxygen and Magnesium.
h. Show the formation of MgO by the transfer of electrons.
¢. What are the ions present in these compounds?
16. Draw the ray diagram in each case to show the position and nature of the image formed
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when the object is placed:

i. At the centres of curvature of a concave mirror.

il

iii.

iv

V.

17. In a domestic circuit 5 ap

d.

Between the pole P and focus F of a concave mirror.
In front of a convex mirror.
At 2F of a convex lens.

At infinity in front of a concave lens.

pliances are connected in parallel with a 220 volt supply. Pl"h-ad
the Power consumed if they operated for 6 hr/day for 30 days. Also find the electricity
bill if 1 unit costs-4 Rs:/unit, Draw its neat diagram.

Draw & meat diagram of on excretory unit of human kidney and label the following
parts.
i. Bourman's capsule
ii. Renal Artery
iii. Glo merulus
iv. Collecting diut
Mention any two functions of the kidney.

c. Mention any two substances which are selectively re absorbed as the filtrate flows

along the tubular part of this unit.
What happens chemically when quick lime is added to water?

b. Balance the following chemical equation:

MnO, + HCl = MnCly + Cl, + HyO

What is decomposition reaction? Explain it with suitable example.
OR

Balance the chemical equation:
Fe (s) + HyO (g) = Feg 04 (s) + Hy ()
Identify the type of reaction in the equation given below:
NaySOy4 (aq) + BaCl; (aqg) = BaSO4 (s) + NaCl (aq)
When copper powder is heated in a Cheinadish the surface of copper powder
becomes coated with black colour substance:

i. What is that black substance.

ii. Why has this black coloured substance formed.
iii. Write the chemical equation of the reaction take place.
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20. a) E}Fplain the menstrual cycle in Human female briefly. ‘ b
b) Difference between Tropic and Nastic Movement.

21. Explain the term Rancidity, Corrosion with suitable example.

SECTION -B
PRACTICAL SKILL BASED QUESTIONS)

22. Write the type of reaction and observation that can be made when:
a. Iron filling are added to copper sulphate solution.
b. When ferrous sulphate crystals are heated.

23. Calculate the current 'T' in the following circuit:

24. Draw a diagram showing various parts of an embryo of a dicot seed.
25. How does acetic acid react with sodium hicarbonate? Give chemical equation for this
chemical change.
26. An object is placed at 2F; in front of a convex lens. What is the-
a. Portion
b. Size
¢. Nature of image
d. Magnification.
27. Mention the observation of budding in Yeast.
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SUMMATIVE ASSESMENT -1 (2019-20)
CLASS- 10t SUBJECT- Social Science MM: 80 TIME: 3 Hours
Note: Q. 1 to Q. 7 each of 1 mark. Q. 8 to Q.18 each of 3 marks.
Q. 19 to Q. 26 each of 5 marks.
Q : 1 Which one of the following type of resources is iron ore-
(a) Renewable  (b) Flow (c) Biotic (d) Non - -renewable

Q; 2 Which one of the following is a Rabi crop?

§

(a) Rice (b) Millets (c) Gram (d) Cotton
Q: 3 When was first cement plant set up?
(a) 1905 (b) 1904 (c)1907 (d) 1910

Q: 4 What do you mean by federal division of power?

Q: 5 What are the criteria for the classification of economic activities?

Q: 6 In which year and by whom was the COPRA enacted?

Q: 7 What is NABARD?

Q: 8 Difference between the organic and inorganic industries.

Q: 9 Explain the functions of RBI.

Q: 10 What is meant by two types of natural resources? Give one example of

each.

Q: 11 What do you know about Krishna-Godavari dispute?

Q:12 “Social divisions of one kind or another exist in most countries.” In the
light of above statement, mention a few basis of social division in India.

Q: 13 In India women's political representation is very low. Justify.

Q: 14 Explain concerted efforts to modern ire agriculture by government.

Q: 15 What facts shows that modern forms of money are different from the
early forms of money?

Q: 16 why are demand deposits considered as money?

Q: 17 How are the three sectors of economy interdependent?

Q: 18 What development goals encourage women to work outside their home?

Q: 19 How has globalisation been advantageous to both the producers as well
as consumers in India? Explain.

Q: 20 “Secularism is an ideology of some political parties or persons but it is
one of the foundations of our country”. Explain this statement.

Q: 21 Why are cotton and textile industry spread all over the India? Explain
five reasons with suitable examples.

Q: 22 Explain the different forms of occurrence of minerals.

Or

‘Railways are the principal mode of transportation in India’. Explain.

Q: 23 Explain the features of third tier of the rural government.

Q: 24 Can you explain any five challenges and problems faced by Indian

Democracy?



Or
Examine the basic features of the caste system prevailing in India.
Q: 25 Explain the factors which facilitate Globalisation.
Or
“Be careful! That’s our world you are playing with! Some day you'll have
to pay a price!” How would you prioritize the facts behind this warning?
Q: 26 Mark the following s in map of India.
(a) Iron ore mines- Durg, Bellary, Bailadila
(b) Coal Mines - Bokaro, Neyveli




